H. Geometry Topic 4 Review

Reasoning in Algebra

*Be able to identify the steps in a proof using the Properties of Equality.

*Be able to identify properties of equality or congruence if given a statement.

*Be able to complete missing steps using the properties of equality or congruence.

Name each property being used.
1. AB=AB

2. Ifx=2and x=y, theny =2.
3. Ifx=3and 2x + 7 = 4y, then 2(3) + 7 = 4y.
4.1f /A= /B, then /B = /A

5. Which of the following is an example of the Reflexive Property of Equality?
CIfx=-2,thenx+4=-2+ 4,

Cx-2=x-2

Cify=x+4, thenx+4 =y.

CIfx-2=yandy =4, thenx-2 =4,

6. Fill in the missing information in the proof below.
Given: AC = 36
Ix 2x +1

A B c

Statements Justifications

1. AB+BC=AC 1.

2. 2. Substitution

3.5x+1=36 3.

4. 4. Subtraction Property of Equality
5 x= 5.

Use the given property to complete each statement.

7. Addition Property of Equality 8. Division Property of Equality
If x=5,thenx + 3 = If 2(AX) = 4(BY), then AX =
9. Distributive Property 10. Transitive Property of Congruence

2(4x +5) = If /B= /T and ZB = ZY , then




Proving Angles Congruent
*Be able to use the theorems in this section to find missing angle measures in diagrams.

1. Find the value of x.

(2x+141%

2. Supplementary angles are two angles whose measures have sum
Complementary angles are two angles whose measures have sum

" 9p; 180
 180; 90
" 00; 45

" 180; 360

3. In the figure below, m£ZAED =97°. Which statement is false?

B c
' mzsAEB = 83
" msBEC = 97

" ZAEB and m2DEC are congruent angles.
" 2BEC and mZCED are vertical angles.
4. Name an angle complementary to ZCOD.

)

In questions 5 - 7 below, find the values of the variables.

S. 6.

{2x — 10)°

(3x — a0)°

{6y —10)° | (By + 100"




{4z — 10)°
/—?,] e

Write three conclusions that can be drawn from each diagram.

8.

For 1 and 2, find the value of x.

1. x= 2.X=

v

'

LN (7% — 9y°
(3% — 63)°

(2x)
{x + 37}

3. Fill in the missing information for the algebraic proof below.

E ificati

1) 0.5(4x-14)+3=6 1) Given
2)2x-7+3=6 2)

3) 3) Simplify like terms
4) 2x =10 4)

5) 5) Division Property of Equality



4. Write a statement below that uses the Reflexive Property of Congruence.

For questions 5 — 7, use the given property to complete each missing statement.
5. Addition Property of Equality
If 4x — 3 =10, then

6. Transitive Property of Congruence
If ZTOM = «X and £X = ZLTS , then

7. Multiplication Property of Equality

If lx:6,then
2



